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Hi &, Vector,

ArrayList,

LinkedList, Stack,
Queue

HashMap,

L5 2| (Dictionary) TreeMap,
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Hashtable,
Properties
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m STLUTVAIR =27
dS= M2
SBS” 6
KBS2" 7
KBS1" 9
EBST' 10
MBC 11

Int SBS = 6;

int KBS2 = 7
int KBS1 = 9;
iInt EBST1 = 10;

int MBC = 11;
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o &S= 0|5 M2 HS S LIEL= B+S
T2 7 HEA[FAOF &
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System.out.printf("television networks: %s, channel number:
%d¥#n", "SBS", SBS);

o 8N =25

System.out.printf("television networks: %s, channel number:
%dWn", "SBS", SBS);

System.out.printf("television networks: %s, channel number:
%dWn", "KBS2", KBS2);

System.out.printf("television networks: %s, channel number:
%dWn", "MBC", MBCQ);
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// RRPEO| LT O|2T Y HSE ATAIH XA
channels["SBS"] = 6;

/) HE= 0|2 O|8SM x| H2 E HOILfA] 2tHO|| ==
System.out.pnntf(teIeV|S|on networks: %s, channel number: %dW#n",
"SBS", channels["SBS"]);
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o XEOAM = Bttt BEl = AFESt= HashMap Atz 12
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// channels["'SBS"] = 6 1} H| ==&t
channels.put("SBS", 6);

System.out.printf("television networks: %s, channel number: %dWn",
"SBS", channels.get("SBS"));
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ArrayList
LinkedList

HashSet
TreeSet
LinkedHashSet

HashMap
TreeMap
LinkedHashMap
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Set<E>

/
/

Collection<E> Map <
List<E> Queue<E>

A

K, V>

QI I O] &

SapA

HashSet<E> || ArrayList<E> || Vector<E> || LinkedList<E> || HashMap<K, V>

Stack<E>
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;;oid push(Integer element) { ...
class Stack<E> {

X7 }
\LL\(\’&QQ Integer pop() { ... }
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Vector<E>

o Vector<E>2| E4
= java.util.Vector
<E>O0|A ECHY A= ALY 7 ERe = 7HA=t
» O] AdNZS &Y, &A, BA5t= Aol SelA
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A, null
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Vector<Integer> Z3M L5 39

Vector<Integer> v = new Vector<Integer>();
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[add()% 0|23t

Vector<Integer> Zd2ilM

Integer
Integer(10) 0 1 2 4 6
get(3)
x“"ﬁ \
10 5 4 -1 10
Integer Integer Integer Integer




EtQ OH7H M ArESH| = 8% 81 24

i@ Java EE - chap7-ex-7-1-VectorEx/src/VectorEx java - Eclipse =B |3
File Edit Source Refactor Mavigate Search Project Run  Window Help
" e |~ 0~ @ | |rUuEN| RS F| G~ | @ 5~

|9 | 2| PPsr 2 o [ £l l= B o] % Quick Acces = | [Faee
i = 0 [1] *VectorExjava &2 = O
=] <}:5| import java.util.Vector; .
-
- public class VectorEx {
; j:;,' = public static void main(String[] args) {
> & J/ B O 2 E HUWE HE MY
e = neWlector(); =
[ . P
b ‘ un Vector is a raw type. Rﬁrences to generic type Vector<E= should be parameterized L
[P || & quick fixes available:
0 & Infer Generic Type Arguments...
Vector= J | @ Add @SuppressWarnings 'rawtypes' to 'v' .
Af-g—'clﬂ-ﬁ 7c:>|—T'— , @ Add @SuppressWarnings ‘rawtypes' to 'maind’
ey Press 'F2' for focus
; et I System.out.println("2/E] LY S A 2= @ " + v.size());
E System.out.println("HIE{2] SN = : " + v.capacity()); // &
b
vl -
> & /) RE Q4 = 2510
; & for(int i=08; i<v.size(); i++) {
DTI?- 1 L - e a2 L i
i b ' 1 b
| Writable | Smartinsert | 1:25

Vector<Integer>L} Vector<String> & Et® Of7 B=E ALESHO{OF &
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o £8 HAL

boolean add(E element) HIE{O| OH F{0{| element =7}

void add(int index, E element) OlE|A index0i| elementS A2

int capacity() HIE{ o] Sxf =2f 2|H

boolean addA11(Collection<? extends E> c¢) | Z2llM cO| D= QA HIE{O| OH S of| F7}

void clear() HE ol D= Q4 A

boolean contains(Object o) HIE{ 7} X =l ZHA| o= Zelsld o™ true 2|E

E elementAt(int index)

I'E

A index2| @4 2|E

E get(int index) OIEIA index2| 24 2|H

int index0f (Object o) o2t 22 | 49| QIEA 2|E, gloH -1 2|H
boolean isEmpty/() HIE 7t H|0 USH true 2|

E remove(int index) OIEA index2 24 AMK|

boolean remove(Object o) x| 02t 22 A HIj| @A S HEO|IM A

void removeAl1Elements() HIE|o| D= RAS AY|IGID 37|2 022 Ot5

int size() HIE{7| L &l5h= QA9 714 2|H

Object[] toArray() HE{Q] BE RAE ZShol= g 2|H




Vector<Integer> ZHH|

v
HIE| MM | Vector<Integer> v = new Vector<Integer>(7); T
v
4 MY | v.add(5); o— * .\
v.add(new Integer(4)); | .
v.add(-1); VL \ \
5 1 -1
Integer Integer Integer
Q4 Me=n | int n = v.size(); // n2 3 =3
HIE{o| 2F ¢ | int ¢ = v.capacity(); // c= 7 =7
v
2A B AY | v.add(2, 100); ° * e o
l \\ \ \
[/ v.size()2Ct 2 0| & 2715, 2F 5 4 100 -1
Integer /A Integer Integer Integer
obj
24 HO{Lf7| | Integer obj = v.get(1); o

int i = obj.intValue();
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int Tast = v.lastElement();
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v.removeAll1ETements(); *—
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o JDK 1.5 O™
= 7|2 EIY GIO|E{E Wrapper 22{AE O|25}0] M Z 2HZ0
2
A Vector<Integer> v = new Vector<Integer>();
v.add(new Integer(4));
MOZHEH QAE 02 I, Wrapper S22 E 72 E

Integer n = (Integer)v.get(0);
int k = n.intValue(); // k = 4

o JDK 1.55

= XS EA/R1EH 0| ZHESH0 7|2 EFE) 2 AR Tt
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Vector<iInteger> v = new Vector<Integer> (),

vadd(4); // 4 = new Integer(4)2 X} g4

int k = v.get(0); // Integer EF2 0] int Er°'°§ s A=Y, k
MUl EfY Of7) HaF 7|2 EfRI_E FA=te == B3

Vector<int> v = new Vector<int> (); // L+



Off x| : 84 a2 CFF = Vector<integer>

import java.util.Vector;

public class VectorEx {
public static void main(String[] args) {
// % B R R 2 e Ay
Vector<Integer> v = new Vector<Integer>();

v.add(5); // 5 & &
vadd(4); // 4 & &
vadd(-1); // -1 & &

// HE S7t0] Al
v.add(2, 100); // 49}
System.out.printin("=
System.out.printin("=

AFOOf 4= 100 & ¢
L}j 9] 3/\ 7HX1| "+ w.size());
Ol HM % : " + v.capacity());

mm— N




offx : E+ &2 CtF = Vector<Integer>

/) BE Q& M3 EG]Y
for(int i1=0; i<v.size(); i++) {
int n = v.get(i);
System.out.printin(n);

}

/) HE £o| B= FH= H517|

Int sum = O;

for(int i=0; i<v.size(); i++) {
int n = v.elementAt(i);
sum += n;

}

System.out.printin("H#E 0] U= H= & " + sum);

}




ol Hl: Point 22jA Q| N STt X EHsl=
HE TS

import java.util.Vector;

class Point {
private int x, y;
public Point(int x, int y) {
thisx = x;
this,y = y;
)

public String toString() {
return "(" + x + """ +y + )"
}
)




O H|: Point 22jA 2| K| STt X ZEHSl=
HE 2=

public class PointVectorEx {

public static void main(String(] args) { (,3)
// Point M2 QAR JIX|= HE MA (-5,20)
Vector<Point> v = new Vector<Point> (); (30,-8)

// 3 7H2| Point ZHA| A
v.add(new Point(2, 3));
v.add(new Point(-5, 20));
v.add(new Point(30, -8));

// HIE O = Point AN 25 HAMSIH =3
for(int i=0; i<v.size(); i++) {
Point p = v.get(i); // BIE{ 0| Al i RR] Point ZiX]| O{LY 7|
System.out.printIn(p); // p.toString()= O| &350 ZK| p &
}
}
}
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o ArraylList<E>2| £
= java.util.ArrayList, 7t'H 37| BHi@S FLoict S
<E>O|M ECHA 242 ALY EF EfR2E 71H|3t
= ArraylListOf] & “tsot A
Z6A|, null
7|2 EfYL2 diM/AEt M O 2 Wrapper M2 TS0 K&
= ArrayListO Z4H| & &1/4K
2| AEO| BH F|of K| =7t
| AEO] ZZH0| 4K 4§
oo YX|of A= K| K| Tts
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Ct= A E7F SAIO ArrayListOl]l H2¢ I 57|12t X 245
IWLRZE AR E S7|9 RE A

|



ArrayList<String>

Za Mo

| 5 48

ArrayList<String> a = new ArrayList<String>();

( o

add()S 0|89l |45
LSt T get)2 0 G2t
o 248 AMgLIT

String

II)\I,EI_II

get(3)

ArrayList<String> ZallM

1

add(String) o 1 2 3 4 6
¢ o o
| get(i) \ \\
& L
N NN
n I_E"I"I nll IIH-i n IIJa‘JaII ll)\l_ﬂl_ll
String String String String




Arraylist<E> SE|A2| FR HAE

boolean add(E element) ArrayList©| OH F{0f element =7}

void add(int index, E element) OIHA index0f X|H = element 2!

boolean addA11(Collection<? extends E> c) | ZalM cO] B= QAZ ArraylList2] 01 FHof =7}
void clear() ArraylList®] Z= @A ARY|

boolean contains(Object o) ArrayList7t X|HE 2HH|E Zeloln /O™ true 2|E
E elementAt(int index) index QIE|AC| @A B|E

E get(int index) index QIEIAO| @4 2|H

int indexOf (Object o) o2} 22 & Himj 40| QiElA 2|H Glo™ -1 2[H
boolean isEmpty() ArrayList7} H|O{ QIS true 2|E

E remove(int index) index QIE|IAO| @A AR

boolean remove(Object o) 02} ZE = EHNf QA= ArrayListOf|A] ALK

int size() Arraylist?| Lslol= 42| I 2[H

Object[] toArray() Arraylisto| 2= QAE Te5l= g 2|H




ArraylList<String> Zix||

a
ArrayList MM | ArrayList<String> a = new ArraylList<String>(7); *—
a
A e | a.add("Hello"); o— >
a.add("Hi"); ’] N N
a.add("Java"); ‘L \ \
III_E'I] 0“ IIH-i n IIJavall
String String String
24 JliE=n int n = a.size(); // n2 3 -3
22F | Snt-e=a-eapacity()s-// capacity() HACE Q=
a
QA FZ2HHY) | a.add(2, "Sahni"); o ’ .\ o
// a.size()2Ct 2 Yxlof Y 275, LF "Hello" ik "Sahni" "Java"
String f String String String
str
Q4 Lol Z| | String str = a.get(1); Him

ol




Q4 AMAH| | a.remove(l); .——»{ ? .\ .\
| AN
acrenove(d); 9T 'lr \ \
"Hello" "Sahni" "Java"
String String String
a e
DE A MY | a.clear(); [




O™l : ArrayListd]] =XIES 27|

import java.util.*;

public class ArrayListEx {
public static void main(String[] args) {
// =AE T S R7FST ArrayList A3 A
ArrayList<String> a = new ArrayList<String>();

// 7IREE5H 4742| O| & /UH RO ArrayListOf| & &
Scanner scanner = new Scanner(System.in);
for(int i=0; i<4; i++) {
System.out.print("O| = Y HSIM2>>");
String s = scannernext(); // 7| EEZ5H 0| & Y=
a.add(s); // ArrayList Z&M 0] &l
}



Ol X|: ArrayListd]l =XIE= 7|

// ArrayListd] 0| = 2= 0| &
for(int i1=0; i<a.size(); i++) {
// ArrayList2| i BT EAIE FO{ 27
String name = a.get(i);
System.out.print(name + " ");

i/ 7t 71 O|§ &8
int longestindex = 0;
for(int i=1; i<a.size(); i++) {
if(a.get(longestindex).length() < a.get(i).length())
longestindex = i;

}

System.out.printin("wnZt& Z1 O|&2 : " + a.get(longestindex));




ZalMo| =X} AM = 2let Iterator

O Iterator<E> QIE O] A
= Vector<E>, ArrayList<E>, LinkedList<E>7} & &HE=

ClE M| O] &
BlAE TZO| UMM 229 £X HMS U3 H4E BE
= |terator<E> QIEL[O|A HAE
HAE 4%
boolean hasNext() Lt =20 AKEE A7 ACEH true 2|E
E next() s 24 2|E
void remove() Ofx|ete2 2|E= @A XA

= jterator() &&=
iterator()S 2@=5}H Iterator 241N Hi=t
lterator ZAH|E 0| 2350 QEA Q0| =XH HM JIs
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ZalMo| =X} AM = 2let Iterator

Vector<integer> v = new Vector<Integer> (),
Iterator<Integer> it = v.iterator();
while(it.hasNext()) { // 2 24 HE

int n = it.next(); // LIS 224 2|H

}

CC
—_

for (int n : v) {

}




Ol Hl: I1teratorE 0|25} Vector?| ZE 22
E=5t1 g o}

Vector<Integer>2 £ H [teratorg ZO{L1 HES| E= H+F ==t &S +otet

import java.util.*;

public class IteratorEx {
public static void main(String[] args) {
// 4 2R CHRE AU e A
Vector<Integer> v = new Vector<Integer>();
v.add(5); // 5 & &
v.add(); // 4 & &
vadd(-1); // -1 & &
v.add(2, 100); // 42} -1 AIO|0f| H= 100 & &
// lteratorg 0| &%t 2= d= %E"OWI
Iterator<Integer> it = v.iterator(); // Iterator Z4 K| & 7|
while(it.hasNext()) {
int n = it.next();
System.out.printin(n);

}




Ol M| : IteratorS O| &3} Vectorl| RE 24

=801 g oY)

}
}

// Iterator O| &350 2= ™ LS|
int sum = 0;
it = v.iterator(); // Iterator ZiX| &7
while(it.nasNext()) {

int n = it.next();

sum += n;
}
System.out.printin("#lE{ 0| = =" + sum);

}




Remove Objects from Collection while
Iterating

O ArrayList= remove(int index) EE= remove(Object obj)
HAEE NS Tt remove() HAEE ArraylistE
iterating®tX| g2 0| 2F ArE 2

LS 11—
0 ArrayListO| A iteratingStH M remove() sHOfe 4%,
IteratorE Al2%
ArrayList<String> list = new ArrayList<String>(Arrays.asList(“a”,"b","c","d"));
for (int | = 0; i < list.size(); i++) {
list.remove(i); // #A7F AHH|E f list AFO| =7} EHM CHE |2 52| indexE HHE
}
for (String s : list) {
list.remove(s); // ConcurrentModificationException &4

}

Iterator<String> it = list.iterator();

while (it.hasNext()) {
String s = it.next(); // Iterator2| next()7t remove()ECt HX S EE|0{0f &
it.remove();



HashMap<K,V>

o HashMap<K,V>

» 7|(key)2t Zf(value)2] WO 2 FTHE|= QAE CtR= ZAA
java.util.LHashMap
Ke 7|2 AH8E Q40| Bt Vv
7|2F 20 ot 22 &Y

7| = SHA|EO| L= ?IX 280 AE (FI= 50| 5182HE
SSA OrX[ 3 7| 2 CHA )

= AASH| fBi= BIEA] 7| O|& (42 S=0| 3{EF)
= A9 O ZHMO| HE EX

24 &Y put) HAE

24 AM :get() HAE

= Of) HashMap<String, String> ‘dd, 24 &, 24 A
HashMap<String, String> h = new HashMap<String, String>();
h.put("apple”, "Art"); // "apple" 7|2 "Abt" £X0| ‘E= SHA| L0 & &

String kor = h.get("apple"); // "apple" 7| 2 gt A kor= "AtDt”



HashMap<String, String>2| L& /d1}
put(), get() H=E

HashMap<String, String> map = new HashMap<String, String>();

HashMap<String, String> ZalM

key E|O|2 value E|O|Z
key value
E “-I WE“ _,__ IIA E n
" app'l a" n )"I'ﬂl'“ Fut( k_E_‘,I’, val UE'J ._ ._ I-
N

—

key _— e »| "apple" >.7—:- "Apap
i
" s t(k _/’//
apple e E(key) |
&

.__}_ llbab},ll .__’__ uﬂl_;lu

value ‘\3@1

?




HashMap<K,V>2| 2 HAE

void clear()

HashMapl| 2= 24 ARY|

boolean containsKey(Object key)

XE= F|(key)= Z &I QO™ true 2|E

boolean containsValue(Object value)

otLt ol&te] 7|2 KIHE Zilvalue)ofl OHEAIZ 4~ U2
™ true 2|E

V get(Object key)

XI™E 7|(key)oi| OHEE= 2f 2/E 7|0 ofE== HE
WE Qo™ null 2|H

boolean isEmpty()

HashMapO| H|{ IS true 2|E

Set<K> keySet ()

HashMapOl] Q= BE 7|2 B2 Set<k> Z2i| M 2|

V put(K key, V value)

key?} valueZ OHEZISHH HashMapOf| &k

V remove(Object key)

XIEE 7l(key)2t 0|0f] DHEE ZF= HashMapO| A AF|

int size()

HashMapOi| Z&tE 2489] J< 2|H




HashMap<String, String= 2|

h key value
GllA|RY 4841 | HashMap<String, String> h = @ >
new HashMap<String, String=();
h
(?l. ﬂ) JE:-?J h-put("babyll . IIOI_?III) ; . }___ . ’ II"| DVE" .__P_ II)\}%II
h.put("love", "AlZ");
h.pu‘!‘.("app"le" . “’klil-l'“) :
. » ||app] E|| . » ")\I'Il.-l'“
.__,__ “baby" .__’__ ||0|‘7|||
p.
7|12 &t 47| String kor = h.get("love"); kor = "ApZk"
h 'a
7|2 24 A h.remove("apple"); o e ®——— "love" ®——— "AEM"
®——— "baby" ®—— "of7|"

24 e

int n = h.size():




B0] trojet o= H
Fof tHoj = o=

import java.util.*;

public class HashMapDicEx {
public static void main(String[] args) {

// BO| Erojof $12 £Ho{o] 42 MABHE HashMap ZE 4 444
HashMap <String, String> dic = new HashMap <String, String>();
// 3 709l (key, value) A= dicOfl X%

dic.put("baby", "Ot7|"); // "baby"& key, "Ot7|"Z value
dic.put("love", "ArE");

dic.put("apple", "Atzt";




Ol &| : HashMap= 0| 8050 F0] THO{2}
ot= CHO|E Mo = XMESID ZAMol= At

// dic ZEIMH0| =0 Y= 2= (key, value) Y =4

Set<String> keys = dic.keySet(); // key =XIE2 7%l Set 2| H

Iterator<String> it = keys.iterator();

while(it.nasNext()) {

String key = it.next();

String value = dic.get(key);

System.out.printin("(" + key + "," + value + ")");

i/ Foj THojE Y E0 otz Hof A4

Scanner scanner = new Scanner(System.in);

for(int i=0; i<3; i++) {
System.out.print("& 11 42 HHO{E=?");

String eng = scanner.next();

System.out.printin(dic.get(eng));
}

}



O|X|: HashMap= 0| &95}0 HO{ THo{Q}
ot CHO{E Wo = X%Estn ZHAMSI= At

4 "
"babo"E Sl A| TH Of A

| H=0f

A
l
1
o
\d




o X|: HashMap= O|295}0{ XtH} u}5o

H4E 7| B2lots RE By

import java.util.*;

public class HashMapScoreEx {
public static void main(String[] args) {
// MEX 0|51t H4Z 7|Sot= HashMap 24 48
HashMap <String, Integer> javaScore =
new HashMap <String, Integer>();

/15712 H= H’é*

javaScore. put( ", 97),
javaScore.put( " &", 34);
javaScore.put( " O|", 98);
javaScore.put( " ", 70);
javaScore.put( " ", 99);

System.out.printin("HashMap2| 22~ 7l :" + javaScore.size());



Ol X|: HashMap= O|&95}0{ XH} 1}-= 9]
HT+E 7|5 #elol= 3 E &

// BE AE| Ha =,

// javaScorelfl S0 U&= 2= (key, value) & =3
// key 2AIE = 718 Egf Set ZHM 2| H
Set<String> keys = javaScore.keySet();

/] key A€ = =AUZE B2 + U= lterator 2| H
Iterator<String> it = keys.iterator();

while(it.hasNext()) {
String name = it.next();
int score = javaScore.get(name);
System.out.printin(name + " : " + score);

}
}




0| H|: HashMap& 0| &%t st M

id2} MetH 2 FLd k= Student &
Student 2N & 42 E St= SHA|H % & dstat.

import java.util.*;

class Student { // S S BEHGI= SeEiA
int id;
String tel;
public Student(int id, String tel) {
this.id = id; this.tel = tel;
}
}




Of| H|: HashMap2 O| &% SHl M H X%

public class HashMapStudentEx {
public static void main(String[] args) {
// =l O] 1} Student AHM|E 2= X St= HashMap 2= Ao
HashMap <String, Student> map = new HashMap <String, Student>();

// 3 88 =td XE

map.put("&", new Student(1, "010-111-1111"));
map.put("St", new Student(2, "010-222-2222"));
map.put("0|", new Student(3, "010-333-3333"));

System.out.printin("HashMap2| 22 7il== " + map.size());



O X|: HashMap= O|&¢t st HHE X%

[/ BE S =9 mapl S (
/] key =AIE S 7u gt Set 5’43“4 EIEJ
Set<String> names =

// key 2AtE S =MUZE H2E == U= lterator 2[H
Iterator<String> it = names.iterator();
while(it.nasNext()) {

String name = it.next(); // CH2 7]. €4 0|8

Student student = map.get(name);

System.out.printin(name + " : " + student.id + " " + student.tel);




O X|: HashMap= O|&¢t st HHE X%
// oE o|'*o|'I §—| mapO'” %O-I %IkE = (key Value) N = Eﬂ:l
// key 2AIE = 7HZ Hg Set ZEM 2| H

Set<String> names = map.keySet();

// key A8 S =AE
for (String name : names) {
Student student =

}
}

AN ShH
|_

of == AAE lterator E'-l E

map.get(name);
System.out.printin(name + " : "

+ student.id + " " + student.tel);




LinkedList<E>

0 LinkedList<E>2| £

= java.util.LinkedList

B0 R42 AFET ErY X ZoH A<t
List QIHL|O|AS Foiot AHE SdhA

N

= Vector, ArrayList S 222 0f FASHA &5

» 24 ANES2 L= HEAE[ 0 22| E

w 24 M= W F =Tt Its

= 24 AN = AHAS 0850 S0 & “ts

» W0 FOIL} T FO RAF FII5HALE A X = A0 AEHO[LY
E AME 7t




LinkedList<String>2| LHF /d1} put(),
get() HAE

LinkedList<String> | = new LinkedList<String>();

LinkedList<String> Zial| M

String ( A
ngn |add{5tr1 ng) ‘ head tail
» .
get(3) get (i)
vy
? 4 N\
"¢ T e [T tdavat [ | O

String String String String



Collections Sci|A E&

O Collections
java.util I{ 7| X|Of| =gt

A C L=

S| A
A M0 CHol A2 sdlstn Z2utz AN 2|
static Ef &

2= 0
=8 I31|

"

== 28%= sort() HAE

A
*1% tl._H:HE St reverse() HAE
%0

oY

ML= binarySearch() A=

| IO, £[A4E2 &OotL= max(), min() HIAE



0J| X|: Collections A 0| &

import java.util.*;

public class CollectionsEx {
static void printList(LinkedList<String> 1) {
Iterator<String> iterator = literator();
while (iterator.hasNext()) {
String e = iterator.next();
String separator;
if (iterator.hasNext())
separator = "->";
else
separator = "Wn";
System.out.print(e+separator);



0| X|: Collections 22jA°| EH&

public static void main(String[] args) {
LinkedList<String> myList = new LinkedList<String>();
myList.add("EZHAZH");
myList.add("2ERR| =",
myList.add("Of E = A",
myList.add(0,"E{ O] 4| O] E{");
myList.add(2,"OtHFE});

static Jl&~E0|2 2
oA O|ECE HIE &

Collections.sort(mylList); // 24 H 3
printList(myList); // SZ2E 24 &
Collections.reverse(myList); // 222| &=A& B2
printList(myList); // 84 =4

int index = Collections.binarySearch(myList, "OFH}E}") + 1;
System.out.printin("OFHFEF= " + index + "HR] 24 Y L|CE");



0| X|: Collections 2cjA 9| 2




Custom =20 CHSt sort S AlE

o ¥ ez 2= SEA0| Hof Z=M0| =otoka,

Collections.sort 7| s= O|&d{Al ‘S &0t +CHH
java.lang.Comparable QI O|AF 1215l 3=0{0f o

public interface Comparable<T> {
int compareTo(T o);

}

o CompareTo(T o) HAE= o 2K E QUXE FOE o2t
HuwsfM =AF Aot 20| =(int) 2fS Hrete
o DHOF & X7} Z20{7 QIXFEC RCHH S42 sl
o OROF o 2R 7} Z0{7 QIRte} EUBHTHH 02 HHEl
o 0RO} 1 ZHH|7} ZO| K| QIXFECH ACHH Y42 Uizl




Custom S| 20 CHgl sort e AR

import java.util.ArrayList;
import java.util.Collections;

class A implements java.lang.Comparable<A> {

int num:;

String s;

public A(String s, int n) {
this.s = s;
num = n;




Custom 20| Cliet sort =

AL

public int compareTo(A a) {
if (s.compareTo(a.s) == 0) {
if (num > a.num)
return 1;
else if (num < a.num)
return -1;
else
return O;
}
else {
return s.comparelo(a.s);

)
)

public String toString() {
)

return "String: " + s + "Wt num ="

+ NuMm,




Custom 222 0| CHSt Collections.sort
st& Al
=1 o

public class Main {
public static void main(String[] args) {

ArrayList<A> list = new ArrayList<A>();

list.add(new A("Kim", 30));

list.add(new A("Cho", 20));

list.add(new A("Cho", 30));

list.add(new A("Lee", 20));

for (A b : list) {
System.out.printin(b);

}

System.out.printIn("After sorting");

Collections.sort(list);

for (A b : list) {
System.out.printin(b);

}

}
}



== & equals & hashCode

O equal

s= &+ Axe| LE0| E2X| 55 d(equality)=
H| W St= AKX

F

Person p1 = new Person("Jason”, 10);
Person p2 = new Person("Jason”, 10);
Person p3 = p1;

/ = =

if (p1 == p2) System.out.printin(“p1 == p2");

else System.out.printin("p1 != p2"); //S YTt ref OIL|BEE p1 1= p2

if (01 == p3) System.out.printin(“p1 == p3"); // Lt refEE p1 == p3

else System.out.printin(“p1 !'= p3"),

// equals

// equals override |02 2H true, QE[O{RA 2™ false
if (p1.equals(p2)) System.out.printin(“p1 equals p2”);
else System.out.printin(“p1 is not equal to p2”);



== & equals & hashCode

0 hashCode= & ZHA|7} 22 AH|QUX| 5L d(identity)S
H| W SH= ALK}

Map <Person, Integer> pMap = new HashMap<Person, Integer>();
pMap.put(p1, 1); // equals&hashCode overrideQLCHH, p11} p2= &
pMap.put(p2, 2); // equals override&no hashCodeZ}H, p11d p2&= CHE
for (Map.Entry<Person, Integer> entry : pMap.entrySet()) {
System.out.printin("P : "+entry.getKey()+" Index :
+entry.getValue()),
}
System.out.printin("pMap="+ pMap.size()); // pMap=1
pMap.remove(p1); // p13t p27F 22 hashCode, p12 2 p2 € #0| X|2
for (Map.Entry<Person, Integer> entry : pMap.entrySet()) {
System.out.printin("P: "+entry.getKey()+" Index : "
+entry.getValue()),

}
System.out.printin("after remove pMap=" + pMap.size()); // pMap=0



M= s

o MUlH S22 QTEEH 0| A

= SoiAL QIHEHO|A M AHFO =

Ol H} J

= L

ZlE

| M-

of £l EFRY 37}

public class MyClass<T>

T val:
void set(T a) {
@l = | T ERUS) 2t 0B vallf K|

}

T get() {

}

}

s MU S EHHAA B M

MyClass<String> s;
List<Integer> i;
Vector<String> vs;




MU= A 48 - FH|=2l(specialization)

o TN =2}
= MUl EfRS S0 +x|&Q EfYUS CHUSHY AN Ao
= AL HO0|| oI5 O|FO A

// MU= EfY TOf| String X7
MyClass<String> s = new MyClass<String>();
s.set("hello");

System.out.printin(s.get(); // "hello" &=

// U2 EFY TOl Integer X
MyClass<Integer> n = new MyClass<Integer>();
n.set(5);

System.out.printin(n.get()); // <At 5 ==

= THSHEl MyClass<String>2| 24 AL



MU= A ‘48 - 1M =2l (specialization)

public class MyClass<T> {
T val;
void set(T a) { val = a; }
T get() { return val; }

}

T7} String2 2 7|2t

public class MyClass<String> {
String val; // B val2| Ef 2 String
void set(String a) {
val = a; // String Et2| 2t aE valOi| X|78
}
String get() {
return val; // String EF 2| 2t valZ 2| &
}
}



TH=t 27

o EHQ OH7H B==0f 7|2 Efe

rlo



EtR OH7H ®H =

O El_olzl I:IH7H |__)I\_
n '<'4F'>'ARO[O SHLEL| CHEALS EFY Of7 B2 ALS
n BO| ALESH= ErY Of7 Bl At
E: ElementE 2|0|HH ZEMOA A5 EA|T If FO
ArESHCY
T: Type= 2|0O|2tC},
V : ValueE °|0O|BHLCt
K: KeyE 2|0
» ErQ Of7HH==T) LIEFL = EFRIQ| 24| 4
//T a = new T(); // L5F!
s B OV HesE LSO 2A ErRLE N[}
» O EXE 07 HE2 AFE 7S

0x

=7/t



Ol ™. |2 AEH

o

=7|

class GStack<T> {
int tos;
Object [] stck;
public GStack() {
tos = O;

stck = new Object [10];

}
public void push(T item) {

if(tos == 10) return;
stck[tos] = item;
tos++;

}

}

public T pop() {

}

if(tos == 0) return null;
tos--;
return (T)stck[tos];



Of il M= £&h Eh=7]

public class MyStack {
public static void main(String[] args) {

}

}

GStack<String> stringStack = new GStack<String>();

stringStack.push("Seoul");

stringStack.push("Busan");

stringStack.push("LA");

for(int Nn=0; n<3; n++)
System.out.printin(stringStack.pop());

GStack<Integer> intStack = new GStack<Integer>();

intStack.push(1);
intStack.push(3); LA
intStack.push(5); Busan
| Seoul
for(int n=0; n<3; n++) 5
System.out.printin(intStack.pop()); 3
1




Ml =2t Hi S

o MU= A shELl Mot
» MUlE SeA e QIHE0[AL| HiEE S 85| S

o=}

//GStack<Integer>[] gs = new GStack<Integer>[10]; // L&F!
s MU2 EFRO HIEE S| 85[X| A

//T[] a = new T[10]; // L F!

o O MOl A= Object EIYUCZ HIY MM = MH| AR If EFL
N A El

return (T)stck[tos]; // EIY Of7H B TEIRI S Z F{AE

IIO

= BRI Of7Rio BiE0| HHBE A= 58

public void myArray(T[] a) { ... }



Hul= Hla=

o MU= HaE 92 Jts

class GenericMethodEx {
static <T> void toStack(T[] a, GStack<T> gs) {
for (inti = 0; i < a.length; |++) {

} gs.push(alil);

)
)

s HUE HAES =252 M= AU/ HAE9| QXS S5
O|0] Etgis &1 2B =Z Etls HASHK| HOtE: &

String[] sa = new String[100];
GStack<String> gss = new GStack<String>();
GenericMethodEx.toStack(sa, gss);

sa= String[], gss= GStack<String> Ef®IO0|EE TZ String2 =

o x
LI



Of| d| : AEHO] LH &S BICH=
HAE TS

e = A4l

public class GenericMethodExample {
// TZF EFR Of7H =0l MU|E HAE
public static <T> GStack<T> reverse(GStack<T> a){

GStack<T> s = new GStack<T>();

while (true) {
T tmp;
tmp = a.pop(); // e AEHO|M Q4 SHLHE A H
if (tmp==null) // ~E40| B|AS

break:
else
s.push(tmp); // M AE10| @48 &Y

}

return s; // A AES Bzl

public static void main(String[] args) {
// Double EF22| GStack 44
GStack<Double> gs =
new GStack<Double>();

// 5702l @AF AEHO| push

for (int i=0; i<5; i++) {
gs.push(new Double(i));

}

gs = reverse(gs);

for (int i=0; i<5; i++) {
System.out.println(gs.pop());

}

} 0.0
) 1.0
20
3.0
4.0




E}Q! A4 (Bounded Type Parameter)

o MU= SaAL MU S HAE7) &= B QIARS
Mototil o2 30 EfRY A E A8 & ULt

public class GenericMethodExample2 {
// 23 listO| M 2 32400 A [ist2 Htst
public static <T> List<T> firstThree(List<T> list) {
return list.stream().limit(3).collect();
}
// Y listoll Al HZ charBt Al char list2 Btel (T= CharSequencel| M EEI T 7}H5)
public static <T extends CharSequence> List<Character> firstChars(List<T> list) {
return list.stream().map(e -> e.charAt(0)).collect(Collectors.toList());
}
public static void main(String[] args) {
List<String> cities = new ArrayList<String>();
cities.add(“Seoul”);
cities.add("Busan”);
cities.add(“Incheon”);
cities.add("Daejeon”);
for (String city : firstThree(cities)) System.out.printin(city.toUpperCase());
for (Character c : firstChars(cities)) System.out.printin(c);



YL E FIE (Wildcard)

o 2 E FIE(ZF, unknown type)
= NUHE SefALt MUY= HAZAM AHRSH= 28 QYE
7FE (=, unknown type)ctil FELC}
= D7 RHEE X|DE#HS BHStOIX} & CHYSHA| AHEBHCE

0o Unbounded wildcard

/) UE liste] |IAE BF 538 22 2E AH EIY, F HEXHSZE Object)
public static void print(List<?> list) {
list.forEach(e -> System.out.printin(e));
}
print(cities); // List<String> cities = new ArrayList<>(); ....
print(nums); // List<Integer> nums = new ArrayList<>(); ...
print(people); // List<Person> people = new ArrayList<>(); ....

// It only prints a list of Object (It cannot print a list of String, a list of Integer, etc)
public static void print(List<Object> list) {
list.forEach(e -> System.out.printin(e));

}



ot E FIE (Wildcard)

o MEEIY QtLETIE (Upper bounded wildcard)
= Unknown typeO| 57 EtR® 2| MEEIRE 7ISotE =

// &3 listol M XS charZt A char list2 Bzt

//(?= CharSequence?2| MEE}QT 715)

public static List<Character> firstChars(List<? extends CharSequence> list) {
return list.stream().map(e -> e.charAt(0)).collect(Collectors.toList());

}

o 7THENY YL EFLE (Lower bounded wildcard)
= Unknown typeO| £ EIQIC| F+HEIRYE 7SS0t E

// &8 listo] 102 7|

// £ Integer?| FHEIYD 715. &, Integer, Number, Object)

public static void addTen(List<? super Integer> list) {
list.add(10);
}



Java9

Immutable Collection

o =9 &
« O}O
. o2
| -
0l @

ZEM (Immutable Collection)
o X712, 77 BIhS HE s

A, Al OFO | = F7tot ALt 7| & O0|ElE =8 =

ote{ ! SfH Java.lang.UnsupportedOperatlonExceptlon

HFAH
= O

0 Java8/tA|= S Ha M AfA] HEE

o

m Collections.unmodifiableList(list) At
= Arrays.asList( ... ) AFZ

m Stre

am.of(....).collect(collectingAndThen(toList(),

Collections::unmodifiableList)) A&
= Guava ZtO|E 22| At



Java9 Immutable Collection

O Java9 =H Z=lM M drH

» List.of() A+E
List<String> fruits = List.of("apple”, “banana”, “cherry");

m Set.of() A
Set<String> fruits = Set.of("apple”, "banana”, “cherry”);

Set<String> fruits = Set.of("apple”, "banana”, “cherry”, "apple”); // Set=
=5 2XE @28 lllegalArgumentException

= S — -

S

= Map.of() == Map.ofEntries() AHZ
Map<Integer, String> fruits = Map.of(1, "apple”, 2, "banana”, 3, “cherry”);

Map<Integer, String> fruits = Map.ofEntries(Map.entry(1, "apple”),
Map.entry(2, “banana”), Map.entry(3, “cherry”));



